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ANSWER ALL QUESTIONS on this paper. Marks: 20% each. Total: 100%

Question 1 — Electric Vehicle Developments

An electric vehicle is going up and down the mountain
on a twisted road shown on the left picture.

Draw a graph of “Torque -Speed Requirements of
&. Typical Driving Cycles” for this kind of trip.

In your graph, identify and explain the driving
¢ conditions of the groups of dots.
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Question 2 — Electric Vehicle Systems
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Give 4 key improvements the RIGHT configuration has, over the LEFT configuration, and explain why.
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Question 3 — Hybrid Electric Vehicles

Series bybrid Parallel hybrid
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TWO Advantages Series Hybrid has over Parallel Hybrid TWO Advantages Parallel Hybrid has over Series Hybrid
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Question 4 — Electric Vehicle Propulsion

4 reasons why Brush Type DC motor is not suitable for EV application:
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Question 5 — Electric Motor for EV
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(a) What are the major differences between CCC drive and APC drive? .
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(b) Why is there a need for two different drive schemes (APC & CCC) in one motor drive system?

CCC - 'Fo/‘ (Dw §{7€00\ , Lnsore o 3(900 Sw_oo'H'\ ’fof‘%ue,

APC : for h?ﬁh 507?.0:/\ , potal roval ’{'craue N'\u adb woctic 417 be u/ﬁ—rarm
°“l7’ CnCevs with Qccvmjre on —o € S‘wf'f'ch.‘:j 1S adeéuafe'



